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3.  

Sa šeme za male signale (Slika 1) 
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Slika 2 

 

Sa šeme za veliki signal (Slika 2.): 

1

1 2

6VB
BB CC

B B

R
V V

R R
 


 

1 2 25kBB B BR R R    

 1 2
1

E
BB BB BE E E E

I
V R V R R I


   


 

1 2
1

BB BE
E

BB
E E

V V
I

R
R R






 


 

1 2

1 1

1

BB BE
C E

BB
E E

V V
I I

R
R R

 

 




 

 
 



 

1 2 13.436kΩ
1 1

BB BE BB
E E

C

V V R
R R

I



 


   

 
 

 

 

 

6. 
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7. a) 

c x2 x1 x0 y3 y2 y1 y0 

0 0 0 0 0 0 0 0 

0 0 0 1 0 0 0 1 

0 0 1 0 0 0 1 0 

0 0 1 1 0 0 1 1 

0 1 0 0 0 1 0 0 

0 1 0 1 0 1 0 1 

0 1 1 0 0 1 1 0 

0 1 1 1 0 1 1 1 

1 0 0 0 1 0 0 0 

1 0 0 1 0 1 1 1 

1 0 1 0 0 1 1 0 

1 0 1 1 0 1 0 1 

1 1 0 0 0 1 0 0 

1 1 0 1 0 0 1 1 

1 1 1 0 0 0 1 0 

1 1 1 1 0 0 0 1 
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8. 
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